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1. Find an estimate of the area under the graph of   
x

y
1

  from  𝑥 = 1 to 𝑥 = 2  using four 

approximating rectangles and right endpoints. 

 

 
 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

2. Express the given limit as a definite integral and find the vaule of the intgral. 

lim
𝑛→∞

 [∑   
𝑖3

𝑛4

𝑛

𝑖=1

] 
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3. If 












82)5(9

201
)(

2 xifx

xifx
xf ,          find      

8

0

)( dxxf ? 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

4. Find 𝑔(4) + 𝑔′(4)  if   𝑔(𝑥) = ∫ cos(𝜋𝑡2)  𝑑𝑡
2

√𝑥
.           ( 𝑔′(4) = 𝑑𝑔

𝑑𝑥
 |

𝑥=4
 )  
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1. Find an estimate of the area under the graph of   𝑦 = 1 + 𝑥2  from  𝑥 = −1 to 𝑥 = 2   

using three approximating rectangles and right endpoints. 

 

 
 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

2. Express the given limit as a definite integral and find the vaule of the intgral. 

 

lim
𝑛→∞

 [∑   
𝑖4

𝑛5

𝑛

𝑖=1

] 
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3. If 












82)5(9

201
)(

2 xifx

xifx
xf ,          find      

8

0

)( dxxf ? 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

4. Find 𝑔(4) + 𝑔′(4)  if   𝑔(𝑥) = ∫ cos(𝜋𝑡2)  𝑑𝑡
2

√𝑥
.           ( 𝑔′(4) = 𝑑𝑔

𝑑𝑥
 |

𝑥=4
  )  

 

 


